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Let's simplify things...

A function whose graph has holes or breaks is considered
discontinuous at these particular points.

If you have to lift your pencil from the page to sketch the graph,
it is discontinuous anywhere you lift your pencil

Examples:
I-x i x=-1
Given the function fix)=4 4 . i —1=x<2
1 . if x=2
g-x i ox=2

(a) Check f{x) for any points of discontinuity. Provide a mathematical
reason to validate any point(s) where the function is discontinuous.

(b) Sketch {x).
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2-x*  ifh<l

Given the function f(x)= 3 i x=1 L

-
21 if l<x<3 (\U”
(x—4)" if x>3 7
(a) Check f(x) for any points of discontinuity. Provide a mathematical

reason to validate any point(s) where the function is discontinuous.
(b) Sketch f(x).
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Homework
Page 27 - 29
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Warm Up

Given the function...

2

(x+2F+1 ifx<-1

if x=1

h(x)=</x+1 if ~1<x<3

k7—.15

x—4+1 if3<x<5

ifx>5

(1) Examine A(x) for any points of discontinuity. Provide a mathematical

reason for any point of discontinuity.

(2 Sketch ix) -

Solution:
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Warm-Up... (—(x+2)+1 if x<-1
_jx+l if —1<x<2

f(x)—<1 i x=2

3 if x>2

(a) Using the three conditions for continuity examine f{x) for any points of discontinuity.
At any point(s) of discontinuity clearly indicate a mathematical reason to support why the

function is discontinuous at that particular point. [4]

(b) Draw a sketch of f(x) to support what you have found in part (a). [4]
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Attachments

Worksheet - Sketching Angles in Radians.doc
Warm-Up - Intro to Limits.docx

Review - Factoring.pdf
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Worksheet - Factoring Review.doc



Trig & 3-Space 122 - Sketching Angles in Radian Measure


Instructions:  Evaluate each of the without the use of a calculator.  Sketches must be included.

1.  
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AP CALCULUS 120

WARM-UP: LIMITS										OCT. 2009



1.  Use the graph of f(x) shown to evaluate the following:						[4]

[image: ]







































2.  Evaluate each of the following limits.  If a limit does not exist provide a reason.		[16]





(a) 						(b) 











































(c) 					(d) 
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Factoring Review

Name

Math 10 (Numbers, Functions and Relations 10)

Factor the common factor out of each expression.

1) 20/° +47° — 40
3) 12n° — 48n° +42n

Factor each completely.

5) x° +x—56
Ty 4k — 24k — 28
9) b°—T7b—8

11) 30" — 24n— 72

13) 16n° — 164n + 288
15) 4x° + 6x
17) 4% + 79 =2

19) 6v° — 14y

2) —5x° —5x° - 5x

4) —56a’ +48a° + 164°

6) 6n° — 6n— 120
8) x° —3x—18
10) a® + 13a+ 30

12) 5x* —21x - 54

14) 54x° - 90x
16) 6n° —5n+ 1

18) 4n’ —4n-35

Answers to Math 10 (Numbers, Functions and Relations 10)

1) 4(5+° +»* = 10)
5) (x+8)(x-7)

9) (b-8)(b+1)
13) 4(n - 8)(4n-9)
17) (r+2)4r—1)

2) =Sx(x®+x+1)
6) 6(n—35)(n+4)
10) (a+3)(a+10)
14) 18x(3x - 5)
18) (2n+35)(2n—-7)

3) 6nl(2n* —8n+7)
7 4lk+1)k-7)
11) 6(5n+6)(n-2)
15) 2x(2x +3)

19) 2v(3v-7)

4) 8a’(-7a* + 6a° +2)
8) (x—6)x+3)

12) (5x+9)(x—6)

16) (3n-1)2n-1)
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[image: image1.jpg]2.11 Exercise p’ad.v,w;? Reviews

B You must be able to recognize whic skills must be used
polynomial. When you factor the following polynomials,

to factor a
always check for

st. There are at least two expressions that cannot be
factored. Can you find others?

a common factor fir

15 © 3@+ 6a 2x — 8xy 3. 364 —4a>

4 254 —9y* X+ Tx + 12 6. 3a2—3b
7.y —1ly+28 8 16x'—8x+1 9.  a*—ab— 56b°
10. 4 —11x+6 1. —1409k 120 1+18y+ 3297
13, 2y>—38y°® 14 x*+6x+38 15, 56x2+9x—2
6. —16—9x* 17, 16 —28x + 10 18 ~m*—16
19,  8—1dy+5)° 20, —(1-da9 21 m*—5m:—36
22. . 6a*+5a+1 23, x*—y* 24, p*—2pq—634°
25. m*+3m*—4 26. x*—xy 27. x*+3xy—x
28, a?— 144 2. 3a>—36a+36 30, (a+bP—c?
31. —q? —2ab —b* 32 x34+5x2—6 33. x* + 18x% + 32
34 mt-9mP-112 35 x5—1 .36 2yr—2y—24
37 2x*—38 38 42 +8y—60 39, m*—16

x3 — xy* 4. x*—5x*+4
4.  x*yPz—2xy*
46. @+ bR —(a—by
25(2x + 1)* — (9% — 1)
25(x + 29)* — 9(x — 2))*

40. 2x% — 16x + 32 41.
43, —48 —3y* )
45 -y -+
47 - (a— By — 16(a + 2b)* 4.
49, A(x—y)F—16(c+y* 50.
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